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1. ���������$�� ��L������ (AOAC,1985)
�5 ����

1. ������ (muffle fumace)
2. ������$�"
A����	
�" (porcelain crucible)
3. I��9����2�
A� (desicator)
4. ���
�������&{{����
� 4 �%�#����

�
8?���
1. ���������$�"
A����	
�"���������?��5���92
 600 ��7��J	�J?�6 � B���	�

 �$2�� 3 ����I2�  ��6�
�J��������� �$2�� 30x45 ���? �<
������5���92
������	�	����� #	��
�%����:���������6���I��9����2�
A�  	��������K�:��C��5���92
����#	�������A%�����

2. ���JA%��?� ���A�	$ �$2�� 30 ���? #	$��$�%�����=�� 1 :�&���	����=���A%�
������A�6�����A��
�������&2���
� 1 x 3 2
		
���2

3. ���������������&���A%�����#����� ( �$2�� 3 ���2) �6���������$�"
A��JC�����"
�A%�����#�����#	�� �%�& ������9�����:��2����� #	��:C��=���������5���92
 600 ��7��J	�J?�6
#	$��$�%�������?����"=�� 1x2
����%����

 �
2������ (� ����JK���) = �A%��������������	����� x 100
�A%���������������
�2���

2. ���������$�� ��L�����L�	V� (AOAC, 1985)
�5 ����

1. ����$6%����"�����2�
A�
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2. �9��"&{{�� (electric oven)
3. I��9����2�
A� (desicator)
4. ���
�������&{{����
� 4 �%�#����

�
8?���
1. �"����$6%����"�����2�
A����9��"&{{���?��5���92
 105 ��7��J	�J?�6 ��� 

2x3 ����I2��%����:���9��"�6���I��9����2�
A� :���$�����5���92
=������$	�	�:��C��5���92

����#	�������A%�����

2. ��$�%�������?����"=�� 1 JA%� :�&���	����=���A%������?�������A�6�����A��
�������
&2���
� 1 x 3 2
		
���2

3. ���������������&���A%������?�#����� 1x2 ���2 �6�	�������$�����2�
A�JC��
���"�A%�����#�����#	��

4. �%�& �"���9��"&{{���?��5���92
 105 ��7��J	�J?�6 ��� 5x6 ����I2�
5. �%����:���9��"�6�������$I��9����2�
A� ��A��
A�&�������K�#	�������A%�����
6. �"JA%��?����A� �$2�� 30 ���? #	$��$�%�������
2 :�&���	����=���A%������?�

������A�6�����A��
�������&2���
� 1x3 2
		
���2
7. �%������ �
2�����2�
A�:��69��

����%����
 �
2�����2�
A� (� ����JK���)

   =  �	����=���A%������������������"#	$�	���" x 100
   �A%���������������
�2���

3. ���������$�� ��L��&YL�� (AOAC, 1985)
�5 ����

1. I��9����2�
A� (desicator)
2. �9��"&{{�� (electric oven)
3. ���
�������&{{����
� 4 �%�#����

6����2?
6��	$	��&���	�I�����
	?� (Trichloroethylene)

 �
8?���
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1. �"����6���&=2�� (cup) �?�2?	9�#��� 2 x 3 �2K� #	$���������?�:$�
����$�����9��"
�?��5���92
 100 ��7��J	�J?�6 �":�#���#	����A��
A������K���I��9����2�
A�

2. �����A%���������6���&=2��<���2	9�#������&���A%��������?� (W1)
3. �������������?���������
����$���6���$��3����  �$2�� 1 x 2 ���2 (W2) ������

2
��
��6�	���&6����� (thimble)  �?����?�2&���%�& �6��=�����
���6���&=2��
4. �%�����6���&=2��<���2	9�#����?�����&��#	����
26��	$	��&���	�I�����
	?�

25 2
		
	
�� #	���6��=�����
���6���&=2�������?�"����
5. � �����
���6���&=2��  ��"�5���92
& �?� 160 ��7��J	�J?�6 � ���A%��=�����
���� ��

��	�� �	
��� 5'2& �?� boiling ��2�����
�� 30 ���?
6. �	
��� 5'2& �?� rinsing �<
��	����������� 20 ���?
7.  ����	�� � ��6�
�J�����7�	
��� 5'2& �?� evaporation �<
�����6���$������&  5

���?
8.  �����
���  ������7#	$�A%� #	���	
��� 5'2 evaporation �	�"�?���
2 �%�����6���&=

2�����:�����
�������
A�&�������K�#	���%�& �"�?��5���92
 100 ��7��J	�J?�6 :�#���
9. �%�����6���&=2�����2��6���I��9����2�
A��
A�&�������K�#	���%�2������A%�����

(W3)
����%����

&=2�� (� ����JK���) =  (W3 x W1) x 100
                     W2

I���?� W1  �
�  �A%���������6���&=2��<���2	9�#���
                   W2  �
�  �A%�������������
                      W3  �
�  �A%���������6���&=2��<���2	9�#���#	$���������	������"

4. ���������$�� ��L��i �
U�i����TU�k���� (AOAC, 1985)
�5 ����

1. �	��������������
2. �	���	�����������
3. ���
��� Kjeltech JC�� �$��"���� ���
�������, ���
����	��� #	$���
���:�"&����
4. =���9 �2<9� (erlenmeyer flask)
5. ���
�������&{{���7�
�2 4 �%�#����
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6����2?
1. ���J�	{9�
��=�2=�� (sulfuric acid , H2 SO4) 93 x 98 � ����JK���
2. 6��������2 (catalyst mixture) ���?�2I�������� � ���J�	�{� coppersulfate,

CuSo4) 7 ���2 ��"I #�6�J?�2J�	�{� (potassium sulfate, K2SO4) 100 ���2 �62����=�����
3. 6��	$	��IJ��?�2&�����&J�� (sodium hydroxide, NaOH) 45 � ����JK���

���?�2I��	$	��IJ��?�2&�����&J�� 450 ���2 ���A%��	���  ��" �
2������&�� 1 	
��
4. 6��	$	�������	
� (Hydrochloric acid, HCI) 0.1 ����2�	 ���?�2I��	$	��

�����	
� 9 2
		
�2�����A%��	��� #	�� ��" �
2���:���" 1 	
��)
5. 6��	$	�����"��
� (boric acid, H3BO3) 4 � ����JK��� ���?�2I��	$	�����

"��
����A%��	���  ��2:���$����	$	���2� ��" �
2������&�� 100 2
		
	
��
6. �
��
���������2 (mixed indicator)  ���?�2I��	$	���2�
	��� 0.2 ���2��

#�	����	� 95 � ����JK���  ��" �
2���:���" 100 2
		
	
�� #	$	$	���2�
	
�"	9 (methylene
blue)  0.2 ���2 ��#�	����	� 95 � ����JK���  ��" �
2���:���" 100 2
		
	
��:����A��%�6��
	$	���2�
	��� 2 6��� �62��"6��	$	���2�
		
�"	9 1 6��� �=�������=�����

7. 6��	$	��IJ��?�2����"���� (sodium carbonate, Na2CO3) 0.1 ����2�	
���?�2I���"IJ��?�2����"�����?��5���92
 260 x 270 ��7��J	�J?�6 � B���	� 30 ���? ����6�����
�	���2� 1.325 ���2 	$	�����A%��	���:�2? �
2��� 250 2
		
	
��

8. �2�
	�����J� �
��
������� (methyl orange indicator)  ���?�2I��	$	���2�

	�����J� 0.1 ���2���A%��	��� #	$ ��" �
2���:���" 100 2
		
	
��

������:�����2�=�2=��=��6��	$	�������	
�2���4��
�9�6��	$	��IJ��?�2����"���� 40 2
		
	
�� 	���=���2<9�=��� 250 2
		
	
��

��
2�A%��	��� 20 2
		
	
�� ��
2�2�
	�����J� �
��
������� 2 x 3 ��� �%����&����� ����6��	$	��
�����	
� 0.1 ����2�	 �%�������2�=�2=��=��6��	$	�������	
�I�����69��

N1V1 = N2V2

��
�����2�		
�?A=�������	
� = �A%����� (���2) =��IJ��?�2����"���� x 1000
             6��	$	�������	
� (2
		
	
��) x 52.994
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�
8?���
�. =�A����������� (digestion)
1. ������������������$��3����6���?� ��7:��&�I���:� ���&���A%����� �$2�� 0.5

x 1 ���2 (��������=����	���� �
2��� 10 x 15 2
		
	
��) �6����	������I ��?� #	$�%�    #"	���
"���C��A%�����I��	$��?��

2.  ��
26��������2  3  ���2
3.  ��
2����%�2$����=�2=�� 10 2
		
	
��
4.  �%�& ������2���������5����
�������I ��?� ����	��������������� #	��

 �$��"6������$����������"�=����"���
���:�"&����#	$� �����
���:�"&���� (IJ��?�2&�����
&J�� 15% � B����:�"&����)

5.  �����?��5���92
 375 ��7��J	�J?�6 ��	� 90 x 120 ���? (6�2����<
�2��	������
����&��:�&��6��	$	���6) �2
������:��6��
�&��6��	$	��6?{����
�6?�=?���2{�� ��A��
A�&�������K�
���9�����

6.  �%�& �	���
=.  =�A��������	���

1.  ��
2�A%��	��� �
2��� 50 2
		
	
�� 	���=���
����$��
2.  ���=��#����
����$��I ��?��=����"�5����
����	����?�2?=���9 �2<9�"��:5���"�

�
� 40 2
		
	
�� I����� 	��=���������?����:����$"��#�����"#���:5�2��9������"��
���
2
IJ��?�2&�����&J��	���=���
����$���������� � :���$����6��	$	��2?6?�%�

3.  �6��
��
�������	������"��
� 2 x 3 ���
4.  �%�����	���:���$����&2�2?����#�2I2��?����2� �2
�����"��
�� 	?���� B�6?

�=?��#	��:C��%�����	������& �?� 10 ���? :����A��%�=���9 �2<9����:�����
����	���
�.  =�A�������&�����  (titration)

1. �%�& &���������6��	$	�������	
�2���4���?����"���2�=�2=���?�#����� 
:���$�������"��
�� 	?���� B�6?�A%���
�����

2.  "���C� �
2���=�������	
�2���4���?�����<
������%�������& 
����%����

I ��?� (� ����JK���) = 1.4 (V1 x V2) N x 6.25
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               W
I���?� V1  �
�    �
2���=�������	
��?���������&�������"��������

V2  �
�    �
2���=�������	
��?���������&�������" blank
N   �
�  ���2�=�2=��=�������	
�  (����2�	)
W   �
�  �A%�������������

5. ���������$����i��L��

�&o�� (
�L��TU���Y
� Furukawa and Tsukahara, 1966)
1. ������������ 50 �C� 100 2
		
���2 �6��� Kjeldahl flask
2. ��
2���&���
� (nitric acid) �=�2=�� 5 2
		
	
�� �%�& ���� �$2�� 20 ���?
3. ��A��
A�&�������K� ��
2���� ��	��
� (perchloric acid) 3 2
		
	
�� �%�& �����?����A�:�

6��	$	��6?�=?��� 	?���� B�6?6�2��
�#�� ��������?� 10 ���?
4. ��A��
A�&�������K� ��
2�A%��	��� 50 2
		
	
�� #	$ ��" �
2���6��	$	�������" 100

2
		
	
��
5. �%�6��	$	��& �������9��	
�#6� �?����2����	
�� 350 ��I��2�� � �?�"��?�"��"�A%�

�	��� �%������� �
2��I��2
����&J��I��62���
y = 0.4073x

�2
�� y = �������9��	
�#6�
       x =  �
2��I��2
����&J�� (2
		
���2��� 100 2
		
	
��)

6.  ��TU���������$���O���S�V%�
   6.1  #�2I2��?���2 (��2�
8?���=�� Boyd and Tucker, 1992)
        6����2?
        ������?�26����2? ����A%��	��� ��7:��#�2I2��?� (ammonia  free  distilled  water)

1. 6��	$	�����J
&�J
�� (oxidizing  solution)
�62�A%���J�����=�� (�	��?� 5%) 20 2
		
	
�� ��"�A%��	��� 80 2
		
	
��  ��"���

���2� B���� x ���� �����9������� 6.0 �C� 7.0 I��������&�I���	��
� (HCL, ��� 1 6��� : �A%� 3
6���) ������?�26���?A��2� �5� 4 �C� 5 ���

2. 6��	$	��{���	 (phenol solution)
	$	��IJ��?�2&�����&J�� (NaOH) 2.5 #	${���	 10.0 ���2 ���A%��	��� 100

2
		
	
��  ������?�26���?A��2� �5� 4 �C� 5 ���
3. ��	
�I���	 (rochell  salt)
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        	$	����	
�I���	 (KnaC4H4O6.4H2O) 50 ���2 ���A%��	��� 100 2
		
	
�� ��2���
6��	$	����	
� 70 2
		
	
�� (�<
���%�:��#�2I2��?��?���: �� |}����9�����	
�) ����
A�&�������K� ��
2
#2�����6J�	�{� (MnSo4.2 H2O) 50 2
		
���2  ��" �
2���6��	$	�������" 100 2
		
	
��

4. 6��	$	��2���4��#�2I2��?� (total  ammonia  nitrogen, TAN)
���?�2I������#�2I2��?�2�	�&��� (NH4Cl) 1.9079 ���2  ��" �
2��������A%��	���

���&�� 500 2
		
	
��  :$&��6��	$	�� TAN �=�2=�� 1000 2
		
���2���	
�� �:
�:��6��	$	�����2?
���2�=�2=�� 10 2
		
���2���	
�� I��& � � 6��	$	�� TAN �=�2=�� 1000 2
		
���2���	
�� 2� 5
2
		
	
��  ��" �
2������&�� 500 2
		
	
�� #	$�:
�:�����2?���2�=�2=�� 0.3 2
		
���2���	
�� I��
& � � 6��	$	�����2�=�2=�� 10 2
		
���2���	
�� 2� 15 2
		
	
��  ��" �
2������&�� 500
2
		
	
��
�
8?���

1. & � ����������A%��?������������#	�� ��
��A%��	��� (���� B� blank) ��
�6��
	$	��2���4��#�2I2��?� 2� 10 2
		
	
�� �6���"?������ 50 2
		
	
��

2.  �����	
�I���	 1 ��� ��
26��	$	�����J
&�J
�� 0.5 2
		
	
�� #	$6��
	$	��{���	 0.6 2
		
	
�� �=�������=����� ����
A�&����������� 15 ���? �<
����� !
�
�
����
�=CA�
62"9���

3. �%�& �������9��	
�#6�I��������
���6� �I��I{I�2
������?����2����	
�� 630
��I��2�� �%������� TAN I�����62���

C1 =  A1

C2 =  A2

�2
�� C1 = ���2�=�2=��=�� TAN 2���4��
C2  = ���2�=�2=��=�� TAN ���������A%�
A1   = �������9��	
�#6�=�� TAN 2���4��
A2   = �������9��	
�#6�=�����������A%�

6.2 ���������$����&�&
���#�$&��
�����V%� (
�L��TU���Y
� Clesceri et al, 1989)
6����2?

1. copper-cadmium granules
	����2K�#���2?�2 25 ���2���������	
� 6 ����2�	 #	��	��������A%�� 	�� ��
26��

	$	���� � ���J�	�{� �=�2=�� 2 %100 2
		
	
�� #�����2K�#���2?�2 5 ���? :�6?�A%���
�=��6��

98



	$	���� � ���J�	�{��:
�:��	� �%�JA%�:���
��$���6?�A%���	 	����2K�#���2?�2�����A%�� 	�� �%�
�2K�#���2?�2�?A��
2�� reduction column

2. 6�����6? (color reagent)
��
2 85% phosphoric acid 100 2
		
	
�� #	$ sulfanilamide 10 ���2 ���A%��	���

800 2
		
	
�� �2
��6��	$	���=������? ��
2 Nx(1-naphthyl)xethylenediamine dihydrochloride 1 ���2
�2
��	$	������? ��" �
2������&�� 1000 2
		
	
�� ��K"��=��6?��

3. 6��	$	�� NH4Cl x EDTA �:
�:��
��
26���=�2=��I��	$	�� NH4Cl 13 ���2 #	$ disodium EDTA 1.7 ���2 ���A%�

�	���  ��"<?��� ���� NH4OH �=�2=�� ���&��������2� B����-���� 8.5  ��" �
2��������A%��	������
&�� 1000 2
		
	
�� �%�6���?����?�2&��2��:
�:�� I�����2� 300 2
		
	
�� #	�� ��" �
2��������A%�
�	������&�� 500 2
		
	
��

4. HCL 6 ����2�	
5. 6��	$	���� � ���J�	�{� 2 %
���?�2I��	$	���� � ���J�	�{� 20 ���2 ���A%��	��� 500 2
		
	
��  ��" �
2���

���&�� 1000 2
		
	
��
6. 6��	$	��2���4��&�&����
	$	�� NaNO2 1.232 ���2 ���A%��	���  ��" �
2������&�� 1000 2
		
	
�� :$&��

6��	$	���=�2=�� 250 2
		
���2 NO2 xN ���	
�� ��
2 CHCL3 1 2
		
	
�� �<
�������K"&��&����� �:
�
:��6��	$	���=�2=���?AI���9�2� 50 2
		
	
�� ��
2�A%��	������&�� �
2��� 500 2
		
	
�� :$&��6��
	$	���=�2=�� 50 2
		
���2 NO2 xN ���	
�� �%�6��	$	���?����?�2&���?A& ���?�26��	$	��2���
4��&�&�������2?���2�=�2=����������� 6 �$��" ��9������� 0.00-0.50 2
		
���2 NO2 xN ���	
��

7. 6��	$	��2���4��&�����
���� KNO3 �?��"#���#	�� 0.7218 ���2 	$	�����A%��	���  ��" �
2������&�� 1000

2
		
	
�� :$&��6��	$	��2���4���=�2=�� 100 2
		
���2 NO3 xN ���	
�� ��
2 CHCL3 2 2
		
	
��
�<
�������K"&��&����� �%�6��	$	��2���4���=�2=�� 100 2
		
	
�� �:
�:�����A%��	������&�� �
2���
1000 2
		
	
�� :$&��6��	$	��2���4���=�2=�� 10 2
		
���2 NO3 xN ���	
�� �%�6��	$	��2���
4���?����?�2&���?A�:
�:�����2?���2�=�2=����9������� 0.05 �C� 1.0 2
		
���2 NO2 xN ���	
��
�
8?���

����
����$��&�&����
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1. ������������A%��?������������ ��
�6��	$	��2���4��&�&���� 50 2
		
	
��
�6�=���9 �2<9�=��� 250 2
		
	
�� ��
26�����6? 2 2
		
	
��

2. �
A�&�������
� !
�
�
�� 10 ���? #��&2������
� 2 ����I2� �%�& �������9��	
�#6� �?�
���2����	
�� 543 ��I��2��

3. �%��������9��	
�#6�#	$���2�=�2=��=��6��	$	��2���4��2��=?�����{
#	$�%�������2�=�2=��=��&�&�������A%��������� :�����{

����
����$��&�����
1. �%����������A%��?������������2� ��" <?��� �����9������� 7 �C� 9 ����6��	$	��

�����	
� ��
� 6��	$	��IJ��?�2&�����&J���:
�:��
2. �62���������A%� 25 2
		
	
�� ��" NH4Cl x EDTA �:
�:�� 75 2
		
	
�� & ����

��	�2�� I������A%�&�	������	�2��������� 7-10 2
		
	
��������? �
A��A%��?�������	�2�� 25 2
		
	
��
#����K"���������A%��?���	
�& �
����$����=�A�������& 

3. �%����������A%��?�������	�2�� 50 2
		
	
�� ��
26�����6? 2.0 2
		
	
�� �
A�&�������
�
6? 15 ���? #��&2������
� 2 ����I2� �%�& �������9��	
�#6��?����2����	
�� 543 ��I��2�� � �?�"
��?�"��"�A%��	���

4. �%�6��	$	��2���4��&��������2�=�2=������ � �?��:
�:�&�� 2�������	�2�� 
������?����"���������A%� �=?�����{�$��������2�=�2=��#	$����9��	
�#6� ����%�������2�=�2=��
=��&������?�2?�����������A%� JC������?�&��:$� B����&�����#	$&�&������2��� �����A����2�=�2=��
=��&������?�2?���A%���������:$������"���2�=�2=��=��&�&�������A%����������?������������ ���
���:�����2�=�2=��=��&�&�������A%����������?�������	�2��

������?�2��	�2��
�5�6��������	�2��������#��� ��
2�A%�	�& �����K2��	�2�� #	������ � ��
2�2K�#���2?�2	�

& ���69� 18.5 �J��
�2�� ����A%����2�2K�#���2?�2 �<
�� ������&2�����2K�#���2?�26%���6��"����7
	�����	�2������6��	$	�� NH4Cl x EDTA �:
�:�� 200 2
		
	
�� I�����6��	$	��&�	���� 7-10
2
		
	
��������? ��6�" �$6
�8
��<=����	�2�� I�����6��	$	��&�&����2���4�� �����	�2��
2? �$6
�8
��<�������� 75 � ����JK��� �������?�2�2K�#���2?�2��2�

7. ����
�U�L���uL�
�N��P%����"������$����k���LY
��
�&oL�i �
��
P

101



1. ����&�I�J?� 100 2
		
���2  ��" �
2��������A%��	������&�� �
2��� 10 2
		
	
��
6��	$	���?�&���
�6��	$	��&�I�J?����2�=�2=�� 10 2
		
���2���2
		
	
����K"&��� B� stock 
solution

2. �:
�:��6��	$	��&�I�J?������9������� 50- 500 &2I�����2���2
		
	
��
3. �%�& �������9��	
�#6��?� 275 ��I��2��
4�=?�����{2���4��#6�����26�2<��8��$��������2�=�2=��=�� &�I�J?���"���

�9��	
�#6��?� 275 ��I��2��

��<��������?� � 1 ���{2���4��&�I�J?�
8.����� ��L��i �
U�k�� crude enzyme ������TU  Modified Lowry Method ��U�"��" ���u
L�
�N��Y
� Bovine Serum Albumin (BSA)
�
8?������?�26����2?

Alkaline copper solution   (500 ml)
- 0.5% CuSO4.5H2O 1 6��� (���� CuSO4.5H2O 0.05 ���2 	$	���A%� 10 2
		
	
��)
- 1 % Sodium tartrate 1 6��� (���� Sodium tartrate 0.1 ���2 	$	���A%� 10 2
		
	
��)
- 1 % Na2CO3 �� 0.5 M NaOH 50 6��� (NaOH 10 ���2 	$	���A%� �$2�� 400 2
		
	
��

#	��:C���
2 Na2CO3  5 ���2, 0.5% CuSO4.5H2O 10 2
		
	
�� #	$ 1 % Sodium tartrate 10 2
		
	
��
#	$ ��" �
2���� B� 500 2
		
	
�� ��K"��=��6?�� �?��5���92
 4 ��7��J	�J?�6)

     **�2�����5: ����A%��	�����2 #	$��A������K������62** **

y = 0.0012x

R2 = 0.9816

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0 100 200 300 400 500
S�,=(H<=H</H);LCA*TB/ (L=AS*>*�=/=$66$6$ *)

S.,
#U#
>6
:/V
-;
H)
;L
CA
*T
B/C
B8 27
5 /

,A
/(
= 
*
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- Folin phenol reagent (1: 10 v/v)
�9� Folin phenol Reagent 1 2
		
	
�� ��
2�A%� 10 2
		
	
�� ��K"��=��6?�� �?�

�5���92
 4 ��7��J	�J?�6
 - BSA 1 2
		
���2���2
		
	
��

���� BSA 10 2
		
���2	$	�������A%� DDW  �$2�� 8 2
		
	
��. #	$ ��" �
2���� B� 10
2
		
	
��
�
8?���

1. �%�6��	$	�����&J2��?�&���:
�:�������A%� DDW ���&�����2�=�2=��=��I ��?��������?�
6�2������&��

2. ��
2 Alkaline Copper Solution 2 ml #	$��A��
A�&����� 10 ���?
3. ��
2 Follin reagent (1:10 v/v) 3 ml #	$��A��
A�&�� 10 ���?
4. ����������9��	
�#6��?����2����	
�� 640 nm
5. �%��������9��	
�#6��?�&��� �?�"��?�"��"���{2���4��=�� BSA

��TU����%����uL�
�N��Y
� BSA
1. �:
�:�� BSA ���&�����2�=�2=����2�?�������������A%� DDW ����?A

     ���2�=�2=�� (µg/ml)        BSA 1 mg/ml (µl)          �A%� DDW (µl)
      0       1000       0
      20        980      20
      40        960      40
      80        920      80

                100        900      100
                 200        800      200

     400        600      400
     500        500      500
     700                    300      700

     2. �%��	����	����#��	$���2�=�2=����
2 Alkaline copper solution 2 2
		
	
�� #	$
��A��
A�&����� 10 ���?
     3. ��
2 Follin phenol reagent (1:10 v/v) 3 2
		
	
�� #	$��A��
A�&�� 10 ���?
     4. ����������9��	
�#6��?����2����	
�� 640 ��I��2��
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     5. �%��������9��	
�#6��?�&��2�6�������{�6�������?�"��"������2�=�2=��=�� BSA
#	$��62���=�����{�6�������A�

       

y = 0.0022x

R2 = 0.9991

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

0 200 400 600 800

 conc. ug protein/ml 

O
D

 6
4

0

��<��������?� �2 ���{2���4��=�� BSA 1 mg/ml

                            Specific enzyme activity = Unit of enzyme activity /mg pt �?����
                                                                    = µmol/ml/mgpt



������� Y

�O���S�V%�
�
�������
� 8 P� ����

69 � �
�����

�5���92

(��7�
�J	�J?�6)

���2� B�
���-����

���J
�:��?�	$	��
�A%�(2
		
���2/	
��)

&�&����
(2�./	
��)

&�����
(2�./	
��)

#�2I2��?�
��2
(2�./	
��)

1 27.80x 28.20 6.90x7.15 5.05x5.26 0.06x0.08 1.25x1.50 0.07 x 0.09
2 27.70x28.00 6.89x7.10 5.02x5.23 0.06x0.07 1.13x1.37 0.11 x 0.12
3 27.70x28.10 6.84x7.10 5.00x5.25 0.04x0.05 1.09x1.29 0.06 x 0.10
4 27.60x28.00 6.91x7.12 5.18x5.32 0.05x0.06 1.18x1.27 0.09 - 0.11
5 27.60x28.00 6.94x7.16 5.04x5.26 0.04x0.06 1.11x1.20 0.08 - 0.12
6 27.80x28.10 6.89x7.13 5.15x5.30 0.03x0.05 1.05x1.21 0.07 x 0.09
7 27.80x28.20 6.96x7.06 5.09x5.26 0.03x0.05 1.03x1.12 0.09 x 0.12
8 27.80x28.20 6.90x7.15 5.05x5.26 0.06x0.08 1.25x1.50 0.07 x 0.09
9 27.80x28.00 6.92x7.05 5.11x5.25 0.05x0.07 1.11x1.27 0.06 x 0.08
10 27.80x28.10 6.95x7.05 5.14 x5.45 0.05x0.06 1.16x1.24 0.10 x 0.12
11 27.60x28.00 6.88x7.05 5.05x5.13 0.05x0.06 1.08x1.17 0.07 x 0.09
12 27.80x28.00 6.89x7.03 5.08x5.23 0.05x0.07 1.05x1.15 0.11 x 0.14
13 27.70x28.00 7.00x7.15 5.00 x 5.25 0.03x0.05 1.10x1.21 0.06 - 0.08
14 27.80x28.00 6.98x7.04 5.08 x 5.20 0.03x0.04 1.02x1.10 0.09 x 0.12
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������� �

���������$��P��
�Y
���������
�

�������������?� �.1 ����
����$�����2# � ��� (ANOVA) �$��" pH ����$�<�$����� 	�
����	
�� �	����$�5�������$���I ��?�&�I��&	�6��?��$�$��	����� �

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

TRT
Error
Corrected Total

0.440
0.495
5.391

3
11
14

0.147
0.450

0.326 0.807

�������������?� �.2 ����
����$�����2# � ��� (ANOVA) � ����JK���I ��?��?���	
�������5�
"
�	���������6	��I ��?�I�����&J2�I ��
��6�?�6���:����$�<�$�����
 	�����	
��

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

TRT
Error
Corrected Total

643.877
19.945
663.823

3
19
22

214.626
1.050

204.452 0.0001
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�������������?� �.3 ����
����$�����2# � ��� (ANOVA) �$��"�������6	��I ��?�������5
�
" �	���������6	��I ��?�I�����&J2�I ��
��6�?�6���:����$�<�$
����� 	�����	
��

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

TRT
Error
Corrected Total

65.240
10.421
75.661

3
19
22

21.747
0.548

39.651 0.0001

�������������?� �.4 ����
����$�����2# � ��� (ANOVA) �A%������?��<
�2=CA�=�� 	�����	
��
�	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���������	
��6���
�A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

111.589
534.093
129.139
262.597
1037.420

1
6
6
26
39

111.589
89.015
21.523
10.099

11.05
8.81
2.13

0.002
0.000
0.083
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�������������?� �.5 ����
����$�����2# � ��� (ANOVA) ���������:�
>��
"I�:%��<�$=��
 	�����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

0.756
3.048
0.849
1.740
6.393

1
6
6
26
39

0.756
0.508
0.141
0.066

11.30
7.59
2.11

0.002
0.000
0.085

�������������?� �.6 ����
����$�����2# � ��� (ANOVA) ��������������=�� 	�
����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$�������
��	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

62.475
273.151
886.506
2638.722
3860.855

1
6
6
26
39

62.475
45.525
147.751
101.489

0.62
0.45
1.46

0.400
0.800
0.200
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�������������?� �.7 ����
����$�����2# � ��� (ANOVA) �A%�����������?� 	��
�=�� 	�
����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$�������
��	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

216.440
729.840
111.534
284.154
1341.971

1
6
6
26
39

216.440
121.640
22.306
10.524

20.57
11.56
2.12

0.000
0.000
0.093

�������������?� �.8 ����
����$�����2# � ��� (ANOVA)  �$6
�8
��<�����������=��
 	�����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

0.019
0.019
0.026
0.048
0.113

1
6
6
26
39

0.019
0.003
0.004
0.001

10.31
1.73
2.33

0.003
0.154
0.062
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�������������?� �.9 ����
����$�����2# � ��� (ANOVA)  �$6
�8
��<������I ��?�=��
 	�����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

0.362
0.143
0.168
0.328
1.003

1
6
6
26
39

0.362
0.023
0.028
0.012

28.72
1.90
2.22

0.00
0.110
0.07

�������������?� �.10 ����
����$�����2# � ��� (ANOVA) I ��?��?��%�& ��� �$I����=��
 	�����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

107.977
58.725
28.022
138.774
333.500

1
6
6
26
39

107.977
9.787
4.670
5.337

20.23
1.83
0.88

0.000
0.131
0.526
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�������������?� �.11 ����
����$�����2# � ��� (ANOVA)  �$6
�8
��<�������I ��?�=��
 	�����	
�� �	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

200.704
625.874
229.527
459.242
1515.349

1
6
6
26
39

200.704
104.312
38.254
17.663

11.36
5.91
2.17

0.0024
0.0005
0.0795

�������������?� �.12 ����
����$�����2# � ��� (ANOVA)  �
2��I ��?�=�� 	�����	
��
�	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���������	
��6���
�A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

0.101
2.727
3.130
17.055
23.014

1
6
6
26
39

0.101
0.454
0.521
0.655

0.15
0.69
0.80

0.698
0.657
0.582
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�������������?� �.13 ����
����$�����2# � ��� (ANOVA)  �
2��&=2��=�� 	�����	
��
�	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���������	
��6���
�A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

16.281
69.622
8.828
14.855
109.587

1
6
6
26
39

16.281
11.603
1.471
0.571

28.50
20.31
2.58

0.000
0.000
0.043

�������������?� �.14 ����
����$�����2# � ��� (ANOVA)  �
2������=�� 	�����	
��
�	��&����"�������	���?�2?I ��?�:��������	
����2 #	$���������	
��6���
�A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

0.710
0.451
0.689
1.118
2.970

1
6
6
26
39

0.710
0.075
0.114
0.043

16.51
1.75
2.67

0.000
0.149
0.037
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�������������?� �.15 ����
����$�����2# � ��� (ANOVA)  �
2�����2�
A�=�� 	�
����	
���	��&����"�������	���?�2?I ��?�:��������	
����2 #	$�������
��	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B���	� 8
6� ����

Source Sum of
Squares

Df Mean
Squares

F  Value Pr > F

�	
������������	
��
�$��"���#���?�
�	
������������	
�� x �$��"���#���?�
Error
Corrected Total

19.348
56.928
11.141
25.572
112.991

1
6
6
26
39

19.348
9.488
1.856
0.983

19.67
9.65
1.89

0.000
0.000
0.121
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